
2



Knorr Repair Kits - SB5 TYPE

1002

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

1502

1507

1514

1518

1521

1525

1531

1532

1551

1552

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

RUBBER BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

Ø34 x 80 mm

Ø36 x 145 mm

M16x1,5 x 87 mm

M16x1,5 x 150 mm

Ø40 x Ø36 x 82 mm

-

-

-

-

-

1

1

1

1

1

1

1

1

1

1

1004

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1532

1541

1552

1553

OUTER BOOT

STEEL CAP

OUTER BOOT CLIP

O-RING

-

Ø50 x 28mm 

-

-

6

6

6

6

1002 - SB5
Cal�per Gu�des & Seals Repa�r K�t

1004 - SB5
Cal�per Outer Boots & Steel Caps

1006 - SB5
Cal�per Rubber Bush & Gu�de Repa�r K�t

1006

REF DESCRIPTION DIMENSION QTY

01

02

03

1502

1514

1525

GUIDE PIN (SHORT)

BOLT (SHORT)

RUBBER BUSH

Ø34 x 80 mm

M16x1,5 x 87 mm

-

1

1

1

3



Knorr Repair Kits - SB5 TYPE

1014 - SB5
Cal�per Br�dge Assembly

1015 - SB5
Cal�per P�ston Repa�r K�t

1008 - SB5
Cal�per Cal�brat�on Bolt (Spec�al)

1008-01 - SB5
Cal�per Cal�brat�on Bolt (Normal)

1014

REF DESCRIPTION DIMENSION QTY

01

02

1572

1594

SPRING

BRIDGE ASSEMBLY

Ø21 x 51,5 mm

-

2

1

1015

REF DESCRIPTION DIMENSION QTY

01

02

1533

1520

TAPPET & BOOT ASSEMBLY

TAPPET BUSH

Ø74 mm

Ø18 x Ø16 x 10 mm

2

2

1012 - SB5
Cal�per Adjust�ng Shaft

4



Knorr Repair Kits - SB5 TYPE

1016 - SB5
Cal�per P�ston & Seals Repa�r K�t

1022 - SB5
Cal�per Gu�des & Seals Repa�r K�t

1016

REF DESCRIPTION DIMENSION QTY

01

02

03

1533

1537

1520

TAPPET & BOOT ASSEMBLY

INNER SEAL

TAPPET BUSH

Ø74 mm

- 

Ø18 x Ø16 x 10 mm

2

2

2

1022

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

1507

1518

1521

1531

1532

1551

1552

GUIDE PIN (LONG)

BOLT (LONG)

BRONZE BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

 Ø36 x 145 mm

M16x1,5 x 150 mm

Ø40 x Ø36 x 82 mm

-

-

-

-

1

1

1

1

1

1

1

1051 - SB5
Cal�per Pad Reta�ner Repa�r K�t

1064 - SB5
Cal�per Adjust�ng Mechan�sm

1067 - SB5
Cal�per Bear�ng Support

5



Knorr Repair Kits - SB5 TYPE

1062 - SB5
Cal�per Plast�c Cover (w�thout sensor) 

1063 - SB5
Cal�per Plast�c Cover (w�th sensor 2 cable) 

1062

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1581

1582

1575

1558

COVER

O-RING

SCREW WITH RIVET

ADJUSTER CAP

-

-

-

-

1

1

4

1

1063

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1581

1582

1575

1547

1558

COVER

O-RING

SCREW WITH RIVET

SENSOR WITH (2 CABLE)

ADJUSTER CAP

-

-

-

-

-

1

1

4

1

1

1068 - SB5
Cal�per Plug Set

1168 - SB5
Cal�per Roller Bear�ngs

1169 - SB5
Cal�per Cha�n (12 l�nks)

6



Knorr Repair Kits - SB5 TYPE

1180 - SB5
Cal�per Lever

7



Knorr Repair Kits - SB6/SB7 TYPE

1004

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1532

1541

1552

1553

OUTER BOOT

STEEL CAP

OUTER BOOT CLIP

O-RING

-

Ø50 x 28mm 

-

-

6

6

6

6

1002 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1004 - SB6/SB7
Cal�per Outer Boots & Steel Caps

1003 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1002

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

1502

1507

1514

1518

1521

1525

1531

1532

1551

1552

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

RUBBER BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

Ø34 x 80 mm

Ø36 x 145 mm

M16x1,5 x 87 mm

M16x1,5 x 150 mm

Ø40 x Ø36 x 82 mm

-

-

-

-

-

1

1

1

1

1

1

1

1

1

1

1003

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

1501

1505

1513

1514

1521

1524

1531

1541

1542

1551

1553

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

  BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

STEEL CAP

STEEL CAP

RING

O-RING

Ø32 x 80 mm

Ø36 x 114 mm

M16x1,5 x 80 mm

M16x1,5 x 87 mm

Ø40 x Ø36 x 82mm

Ø35mm (metal end)

-

Ø50 x 28mm 

Ø26 x 11,5mm

-

-

1

1

1

1

1

1

1

1

1

1

1

8



Knorr Repair Kits - SB6/SB7 TYPE

1006 - SB6/SB7
Cal�per Rubber Bush & Gu�de Repa�r K�t

1006

REF DESCRIPTION DIMENSION QTY

01

02

03

1502

1514

1525

GUIDE PIN (SHORT)

BOLT (SHORT)

RUBBER BUSH

Ø34 x 80 mm

M16x1,5 x 87 mm

-

1

1

1

1008 - SB6/SB7
Cal�per Cal�brat�on Bolt (Spec�al)

1010 - SB6/SB7
Cal�per Adjust�ng Mechan�sm Adapter Set

1008-01 - SB6/SB7
Cal�per Cal�brat�on Bolt (Normal)

1011 - SB6/SB7
Cal�per Adjust�ng Mechan�sm Wheel Set

9



Knorr Repair Kits - SB6/SB7 TYPE

1015 - SB6/SB7
Cal�per P�ston Repa�r K�t

1015

REF DESCRIPTION DIMENSION QTY

01

02

1533

1520

TAPPET & BOOT ASSEMBLY

TAPPET BUSH

Ø74 mm

Ø18 x Ø16 x 10 mm

2

2

1016 - SB6/SB7
Cal�per P�stons & Seals Repa�r K�t

1016

REF DESCRIPTION DIMENSION QTY

01

02

03

1533

1537

1520

TAPPET & BOOT ASSEMBLY

INNER SEAL

TAPPET BUSH

Ø74 mm

 -

Ø18 x Ø16 x 10 mm

2

2

2

1017 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1017

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

 1501

1505

1513

1514

1521

1522

1531

1541

1542

1551

1553

 GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

STEEL CAP

STEEL CAP

RING

O-RING

 Ø32 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Ø39 mm (metal end) 

-

Ø50 x 28mm 

Ø26 x 11,5mm

-

-

1

1

1

1

1

1

1

1

1

1

1

10



Knorr Repair Kits - SB6/SB7 TYPE

1018 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1018

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

 1505

1514

1521

1531

1541

1551

1553

 GUIDE PIN (LONG)

BOLT (LONG)

BRONZE BUSH

INNER BOOT

STEEL CAP

RING

O-RING

 Ø36 x 114 mm

M16x1,5 x 87 mm

Ø40 x Ø36 x 82 mm

-

Ø50 x 28mm 

-

-

1

1

1

1

1

1

1

1019 - SB6/SB7
Cal�per Plast�c Cover (w�thout sensor)

1019

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1546

1554

1550

1557

1575

COVER

O-RING

SEAL

ADJUSTER CAP

SCREW WITH RİVET 

-

-

-

38mm

-

1

1

1

1

6

1022 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1022

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

1507

1518

1521

1531

1532

1551

1552

  GUIDE PIN (LONG)

BOLT (LONG)

BRONZE BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

  Ø36 x 145 mm

M16x1,5 x 150 mm

Ø40 x Ø36 x 82 mm

-

-

-

-

1

1

1

1

1

1

1

11



Knorr Repair Kits - SB6/SB7 TYPE

1023 - SB6/SB7
Cal�per Gu�de & Seals Repa�r K�t

1023

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

1503

1507

1516

1518

1521

1526

1531

1532

1551

1552

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

RUBBER BUSH (LONG)

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

Ø34 x 120 mm

Ø36 x 145 mm

M16x1,5 x 125 mm

M16x1,5 x 150 mm

Ø40 x Ø36 x 82 mm

Ø40 x Ø34 x 95 mm

-

-

-

-

1

1

1

1

1

1

1

1

1

1

1024 - SB6/SB7
Cal�per Gu�de & Seals Repa�r K�t

1024

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

1503

1506

1516

1517

1521

1526

1539

1540

1552

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

RUBBER BUSH (LONG)

INNER BOOT

OUTER BOOT (SHORT)

OUTER BOOT CLIP

Ø34 x 120 mm

Ø36 x 134 mm

M16x1,5 x 125 mm

M16x1,5 x 140 mm

Ø40 x Ø36 x 82 mm

Ø40 x Ø34 x 95 mm

-

-

-

1

1

1

1

1

1

1

1

1

1025 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1025

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

 1502

1506

1514

1517

1521

1525

1531

1532

1551

1552

 GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

RUBBER BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

 Ø34 x 80 mm

Ø36 x 134 mm

M16x1,5 x 87 mm

M16x1,5 x 140 mm

Ø40 x Ø36 x 82 mm

-

-

-

-

-

1

1

1

1

1

1

1

1

1

1

12



Knorr Repair Kits - SB6/SB7 TYPE

1026 - SB6/SB7
Cal�per Steel Cap Repa�r K�t

1026

REF DESCRIPTION DIMENSION QTY

01

02

1541

1553

 STEEL CAP

O-RING

Ø50 x 28mm 

-

1

1

1027 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1027

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

1502

1505

1514

1521

1525

1531

1541

1551

1553

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT

BRONZE BUSH

RUBBER BUSH

INNER BOOT

STEEL CAP

RING

O-RING

Ø34 x 80 mm

Ø36 x 114 mm

M16x1,5 x 87 mm

Ø40 x Ø36 x 82 mm

-

-

Ø50 x 28mm 

-

-

1

1

2

1

1

1

1

1

1

1029-01 - SB6/SB7
Cal�per Adjust�ng Mechan�sm (Normal)

1028 - SB6/SB7
Cal�per Pad Reta�ner Repa�r K�t

1029 - SB6/SB7
Cal�per Adjust�ng Mechan�sm (Spec�al)

13



Knorr Repair Kits - SB6/SB7 TYPE

1031 - SB6/SB7
Cal�per Cha�n (29 l�nks)

1034 - SB6/SB7
Cal�per Adjust�ng Shaft (w�thout spr�ng)

1035 - SB6/SB7
Cal�per Lever (Angle 0° - 114 mm)

1030 - SB6/SB7
Cal�per Adjust�ng Shaft (w�th spr�ng)

1032 - SB6/SB7
Cal�per Br�dge Assembly

1032

REF DESCRIPTION DIMENSION QTY

01

02

1571

1591

SPRING

BRIDGE ASSEMBLY

Ø25 x 49 mm

-

1

1

14



Knorr Repair Kits - SB6/SB7 TYPE

1033 - SB6/SB7
Cal�per Sensor Cover (2 cables �ns�de)

1033

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

1583

1554

1559

1550

1557

1547

1575

  COVER (WITH HOLE)

O-RING

TAPPET

SEAL

ADJUSTER CAP

SENSOR ( 2 CABLE )

SCREW WITH RIVET 

-

-

-

-

38mm

-

-

1

1

1

1

1

1

6

1036 - SB6/SB7
Cal�per Lever (Angle 12° - 123 mm)

1051 - SB6/SB7
Cal�per Pad Reta�ner Repa�r K�t

1037 - SB6/SB7
Cal�per Sensor Cover (w�thout sensor)

1037

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1566

1567

1575

1570

SENSOR COVER

SENSOR OPERATING ROD

SCREW WITH RIVET

O-RING

-

-

-

-

1

1

3

1

15



Knorr Repair Kits - SB6/SB7 TYPE

1050 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1050

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

1501

1507

1518

1513

1521

1523

1531

1532

1551

1552

 GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (LONG)

BOLT (SHORT)

BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

OUTER BOOT

RING

OUTER BOOT CLIP

 Ø32 x 80 mm

Ø36 x 145 mm

M16x1,5 x 150 mm

M16 x 1,5 x 80 mm

Ø40 x Ø36 x 82 mm

Ø39 mm

-

-

-

-

1

1

1

1

1

1

1

1

1

1

1055 - SB6/SB7
Cal�per Plast�c Cover (w�th sensor 2 cable)

1055

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1566

1567

1575

1570

1547

SENSOR COVER

SENSOR OPERATING ROD

SCREW WITH RIVET

O-RING

SENSOR (2 CABLE)

-

-

-

-

-

1

1

3

1

1

1061 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1061

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

12

13

14

1505

1510

1513

1514

1521

1531

1541

1543

1551

1553

1577

1578

1579

1580

 GUIDE PIN (LONG)

GUIDE PIN (SHORT)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

INNER BOOT

STEEL CAP

STEEL CAP (Ø40) (SHORT)

RING

O-RING

STEEL CAP (Ø42)

METAL-RUBBER BUSH (SHORT)

RING

INNER BOOT

 Ø36 x 114 mm

Ø32 x 84 mm

M16 x 1,5 x 80mm

M16 x 1,5 x 87mm

Ø40 x Ø36 x 82 mm

 -

Ø50 x 28mm 

Ø40 x 15mm

 -

 -

Ø42,5 x 37mm

Ø39 mm 

 -

 -

1

1

1

1

1

1

1

1

1

1

1

1

1

1

16



Knorr Repair Kits - SB6/SB7 TYPE

1068 - SB6/SB7
Cal�per Plug Set

1168 - SB6/SB7
Cal�per Roller Bear�ngs

1171 - SB6/SB7
Cal�per Lever (Angle 0° - 127 mm)

1181 - SB6/SB7
Cal�per Gu�des & Seals Repa�r K�t

1181

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

12

13

1501

1502

1505

1513

1514

1521

1523

1525

1531

1541

1543

1551

1553

GUIDE PIN (SHORT)

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

RUBBER BUSH

INNER BOOT

STEEL CAP

STEEL CAP

RING

O-RING

Ø32 x 80 mm

Ø34 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Short Vers�on

- 

 -

Ø50 x 28mm 

Ø40 x 15mm

 -

 -

1

1

1

1

2

1

1

1

1

1

1

1

1

1070 - SB6/SB7
Cal�per Sensor Cover (3 Cables sensor �ns�de)

1070

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

1583

1554

1559

1550

1557

1587

1575

����� (���� ����)

�-����

������

����

�������� ���

������ ( 3 ������ )

����� ���� ����� 

-

-

-

-

38mm

-

-

1

1

1

1

1

1

6

17



Knorr Repair Kits - SB6/SB7 TYPE

1184 - SB6/SB7
Cal�per Gu�de & Seals Repa�r K�t

1182 - SB6/SB7
Cal�per Lever Bear�ng Set

1186 - SB6/SB7
Cal�per Lever

1184

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

1504

1505

1511

1514

1521

1527

1531

1544

1541

1551

1553

 GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

GUIDE SLEEVE

INNER BOOT

STEEL CAP

STEEL CAP

RING

O-RING

Ø36 x 64 mm

Ø36 x 114 mm

M16 x 1,5 x 70 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Ø40 x Ø36 x 20 mm

- 

Ø40 x 25mm

 Ø50 x 28mm 

 -

 -

1

1

1

1

1

1

2

1

1

2

1

1190 - SB6/SB7
Cal�per Lever (For Bus)

18



Knorr Repair Kits - SN5 TYPE

1001 - SN5
Cal�per P�ston Repa�r K�t

1007 - SN5
Cal�per Cha�n (14 l�nks)

1008 - SN5
Cal�per Cal�brat�on Bolt (Spec�al)

1008-01 - SN5
Cal�per Cal�brat�on Bolt (Normal)

1001

REF DESCRIPTION DIMENSION QTY

01

02

1536

1520

TAPPET & BOOT ASSEMBLY

TAPPET BUSH

Ø69 mm

Ø18 x Ø16 x 10 mm

1

1

1173 - SN5
Cal�per Gu�des & Seals Repa�r K�t

1173

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

1508

1509

1512

1515

1528

1529

1535

1545

1556

 GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

GUIDE SLEEVE

INNER BOOT (SMALL)

STEEL CAP

BOOT RETAINER RING

 Ø30 x 71,5 mm

Ø30 x 99 mm

M16 x 1,5 x 75 mm

M16 x 1,5 x 105 mm

Ø34 x Ø30 x 65 mm

Ø34 x Ø30 x 20 mm

 -

Ø34 x 14mm

 -

1

1

1

1

1

1

2

2

2

19



Knorr Repair Kits - SN5 TYPE

1048 - SN5
Adjuster Screw Ga�ter

1051 - SN5
Cal�per Pad Reta�ner Repa�r K�t

1068 - SN5
Cal�per Plug Set

1049 - SN5
Cal�per Br�dge Assembly Repa�r K�t

1049

REF DESCRIPTION DIMENSION QTY

01

02

03

1177

1047

1560

CALIPER BRIDGE ASSEMBLY

CALIPER COVER

ADJUSTER SCREW GAITER

-

 -

-

1

1

1

1047 - SN5
Cal�per Cover

1047

REF DESCRIPTION DIMENSION QTY

01

02

1598

1573

COVER

BOLT (SHORT)

 -

M8 x 16 mm

1

6

20



Knorr Repair Kits - SN5 TYPE

1174 - SN5
Cal�per Roller Bear�ngs

1175 - SN5
Cal�per Adjust�ng Shaft

1183 - SN5
Cal�per Lever

1054 - SN5
Cal�per Plast�c Cover (w�th sensor 2 cable)

1054

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

1549

1565

1557

1550

1575

1547

COVER

O-RING

ADJUSTER CAP

SEAL

SCREW WITH RIVET

SENSOR WITH (2 CABLE)

-

-

38mm

-

-

-

1

1

1

1

4

1

1013 - SN5
Cal�per Adjust�ng Mechan�sm

21



Knorr Repair Kits - SN5 TYPE

1189 - SN5
Cal�per Plast�c Cover (w�thout sensor)

1189

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1549

1565

1557

1550

1575

COVER

O-RING

ADJUSTER CAP

SEAL

SCREW WITH RIVET

-

-

38mm

-

-

1

1

1

1

4

1177 - SN5
Cal�per Br�dge Assembly

1177

REF DESCRIPTION DIMENSION QTY

01

02

1572

1595

SPRING

BRIDGE ASSEMBLY

Ø21 x 51,5 mm

-

2

1

22



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1005 - SN6/SN7/SK7
Cal�per Roller Bear�ngs

1008 - SN6/SN7/SK7
Cal�per Cal�brat�on Bolt (Spec�al)

1010 - SN6/SN7/SK7
Cal�per Adjust�ng Mechan�sm Adapter Set

1011 - SN6/SN7/SK7
Cal�per Adjust�ng Mechan�sm Wheel Set

1028 - SN6/SN7/SK7
Cal�per Pad Reta�ner Repa�r K�t

1029 - SN6/SN7/SK7
Cal�per Adjust�ng Mechan�sm (Spec�al)

1008-01 - SN6/SN7/SK7
Cal�per Cal�brat�on Bolt (Normal)

1029-01 - SN6/SN7/SK7
Cal�per Adjust�ng Mechan�sm (Normal)

1030 - SN6/SN7/SK7
Cal�per Adjust�ng Shaft (w�th spr�ng)

23



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1020 - SN6/SN7/SK7
Cal�per Plast�k Cover (w�thout sensor)

1020

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1548

1554

1557

1550

1575

COVER

O-RING

ADJUSTER CAP

SEAL

SCREW WITH RIVET

-

-

38mm

-

-

1

1

1

1

6

1021 - SN6/SN7/SK7
Cal�per Plast�k Cover (w�th sensor 2 cable)

1021

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

1548

1554

1557

1550

1547

1575

COVER

O-RING

ADJUSTER CAP

SEAL

SENSOR (2 CABLE)

SCREW WITH RIVET

-

-

38mm

-

-

-

1

1

1

1

1

6

1019 - SN6/SN7/SK7
Cal�per Plast�c Cover (w�thout sensor)

1019

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1546

1554

1550

1557

1575

COVER

O-RING

SEAL

ADJUSTER CAP

SCREW WITH RIVET

-

-

-

38mm

-

1

1

1

1

6

24



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1031 - SN6/SN7/SK7
Cal�per Cha�n (29 l�nks)

1038 - SN6/SN7/SK7
Cal�per P�ston Repa�r K�t

1038

REF DESCRIPTION DIMENSION QTY

01

02

1534

1520

TAPPET & BOOT ASSEMBLY

TAPPET BUSH

Ø69 mm

Ø18 x Ø16 x 10 mm

2

2

1033 - SN6/SN7/SK7
Cal�per Sensor Cover (2 cables �ns�de)

1033

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

1583

1554

1559

1550

1557

1547

1575

COVER (WITH HOLE)

O-RING

TAPPET

SEAL

ADJUSTER CAP

SENSOR ( 2 CABLE )

SCREW WITH RIVET

-

-

-

-

38mm

-

-

1

1

1

1

1

1

6

1182 - SN6/SN7/SK7
Cal�per Lever Bear�ng Set

25



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1040 - SN6/SN7/SK7
Cal�per Gu�des & Seals Repa�r K�t

1040

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

1501

1505

1513

1514

1521

1523

1531

1543

1551

  GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

STEEL CAP

RING

 Ø32 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Short Vers�on 

 -

Ø40 x 15mm

 -

 1

1

1

1

1

1

1

1

1

1041 - SN6/SN7/SK7
Cal�per Br�dge Assembly

1041

REF DESCRIPTION DIMENSION QTY

01

02

1571

1592

SPRING

BRIDGE ASSEMBLY

Ø25 x 49 mm

 -

1

1

1039 - SN6/SN7/SK7
Cal�per Gu�des & Seals Repa�r K�t

1039

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

 1501

1505

1513

1514

1521

1522

1531

1542

1543

1551

  GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

STEEL CAP

STEEL CAP

RING

  Ø32 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Ø39 mm (metal end) 

- 

Ø26 x 11,5mm

Ø40 x 15mm

 -

1

1

1

1

1

1

1

1

1

1

26



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1045 - SN6/SN7/SK7
Cal�per Cover

1045

REF DESCRIPTION DIMENSION QTY

01

02

1596

1573

COVER

BOLT

-

M8 x 16 mm

1

8

1043 - SN6/SN7/SK7
Cal�per Lever (Angle 0° - 126 mm)

1044 - SN6/SN7/SK7
Cal�per Lever (Angle 0° - 113 mm)

1051 - SN6/SN7/SK7
Cal�per Pad Reta�ner Repa�r K�t

1042 - SN6/SN7/SK7
Cal�per Br�dge Assembly

1042

REF DESCRIPTION DIMENSION QTY

01

02

1571

1593

SPRING

BRIDGE ASSEMBLY

Ø25 x 49 mm

 -

1

1

27



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1058 - SN6/SN7/SK7
Cal�per Lever 

1059 - SN6/SN7/SK7
Cal�per Lever 

1068 - SN6/SN7/SK7
Cal�per Plug Set

1065 - SN6/SN7/SK7
Cal�per Sensor Cover (w�thout sensor)

1065

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1584

1567

1575

1570

SENSOR COVER

SENSOR OPERATING ROD

SCREW WITH RIVET

O-RING

-

-

-

-

1

1

3

1

1046 - SN6/SN7/SK7
Cal�per Cover

1046

REF DESCRIPTION DIMENSION QTY

01

02

03

1599

1573

1574

COVER

BOLT (SHORT)

BOLT (LONG)

-

 M8 x 16 mm

M8 x 50 mm

1

6

2

28



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1127 - SN6/SN7/SK7
Cal�per P�stons & Seals Repa�r K�t

1127

REF DESCRIPTION DIMENSION QTY

01

02

03

1534

1538

1520

TAPPET & BOOT ASSEMBLY

INNER SEAL

TAPPET BUSH

Ø69 mm 

-

Ø18 x Ø16 x 10mm

2

2

2

1164 - SN6/SN7/SK7
Cal�per Gu�des & Seals Repa�r K�t

1164

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

 1504

1505

1511

1514

1521

1527

1531

1543

1544

1551

   GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

GUIDE SLEEVE

INNER BOOT

STEEL CAP

STEEL CAP

RING

   Ø36 x 64 mm

Ø36 x 114 mm

M16 x 1,5 x 70 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Ø40 x Ø36 x 20 mm

 -

Ø40 x 15mm

Ø40 x 25mm

 -

1

1

1

1

1

1

2

1

1

2

1066 - SN6/SN7/SK7
Cal�per Plast�c Cover (w�th sensor 2 cable)

1066

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1584

1567

1575

1570

1547

SENSOR COVER

SENSOR OPERATING ROD

SCREW WITH RIVET

O-RING

SENSOR (2 CABLE)

-

-

-

-

-

1

1

3

1

1

29



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1176 - SN6/SN7/SK7
Cal�per Lever (Angle 12° - 123 mm)

1178 - SN6/SN7/SK7
Cal�per Lever (Angle 0° - 113 mm)

1179 - SN6/SN7/SK7
Cal�per Lever (Angle 12° - 122 mm)

1167 - SN6/SN7/SK7
Cal�per Adjuster Cap K�t

1167

REF DESCRIPTION DIMENSION QTY

01

02

1557

1563

ADJUSTER CAP

MECHANISM ADAPTER

38mm

-

10

10

1166 - SN6/SN7/SK7
Cal�per Adjuster Cap K�t

1166

REF DESCRIPTION DIMENSION QTY

01

02

03

1557

1558

1563

ADJUSTER CAP

ADJUSTER CAP

MECHANISM ADAPTER

38mm

 -

-

10

10

10

30



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1185 - SN6/SN7/SK7
Cal�per Bush & Gu�de Repa�r K�t

1185

REF DESCRIPTION DIMENSION QTY

01

02

03

04

1501

1513

1522

1542

GUIDE PIN (SHORT)

BOLT (SHORT)

METAL-RUBBER BUSH

STEEL CAP

Ø32 x 80 mm

M16 x 1,5 x 80 mm

Ø39 mm (metal end) 

Ø26 x 11,5mm

1

1

1

1

1181 - SN6/SN7/SK7
Cal�per Gu�des & Seals Repa�r K�t

1181

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

10

11

12

13

1501

1502

1505

1513

1514

1521

1523

1525

1531

1541

1543

1551

1553

GUIDE PIN (SHORT)

GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

RUBBER BUSH

INNER BOOT

STEEL CAP

STEEL CAP

RING

O-RING

Ø32 x 80 mm

Ø34 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Short Vers�on

- 

 -

Ø50 x 28mm

Ø40 x 15mm

 -

 -

1

1

1

1

2

1

1

1

1

1

1

1

1

1187 - SN6/SN7/SK7
Cal�per Adjuster Cap K�t

1187

REF DESCRIPTION DIMENSION QTY

01

02

03

1561

1558

1563

ADJUSTER CAP

ADJUSTER CAP

MECHANISM ADAPTER

35mm

 -

-

10

10

10

31



Knorr Repair Kits - SN6/SN7/SK7 TYPE

1188 - SN6/SN7/SK7
Cal�per Adjuster Cap K�t

1188

REF DESCRIPTION DIMENSION QTY

01

02

1561

1563

ADJUSTER CAP

MECHANISM ADAPTER

35mm

-

10

10

32



Knorr Repair Kits - SL7/SM7 TYPE

1009 - SL7/SM7
Cal�per Cal�brat�on Bolt (Spec�al)

1029 - SL7/SM7
Cal�per Adjust�ng Mechan�sm (Spec�al)

1031 - SL7/SM7
Cal�per Cha�n (29 l�nks)

1019 - SL7/SM7
Cal�per Plast�c Cover (w�thout sensor)

1019

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

1546

1554

1550

1557

1575

COVER

O-RING

SEAL

ADJUSTER CAP

SCREW WITH RIVET

-

-

-

38mm

-

1

1

1

1

6

1009-01 - SL7/SM7
Cal�per Cal�brat�on Bolt (Normal)

1029-01 - SL7/SM7
Cal�per Adjust�ng Mechan�sm (Normal)

1069 - SL7/SM7
Cal�per Bear�ngs

33



Knorr Repair Kits - SL7/SM7 TYPE

1042 - SL7/SM7
Cal�per Br�dge Assembly

1042

REF DESCRIPTION DIMENSION QTY

01

02

1571

1593

SPRING

BRIDGE ASSEMBLY

Ø25 x 49 mm

 -

1

1

1046 - SL7/SM7
Cal�per Cover

1046

REF DESCRIPTION DIMENSION QTY

01

02

03

1599

1573

1574

COVER

BOLT (SHORT)

BOLT (LONG)

-

 M8 x 16 mm

M8 x 50 mm

1

6

2

1040 - SL7/SM7
Cal�per Gu�des & Seals Repa�r K�t

1040

REF DESCRIPTION DIMENSION QTY

01

02

03

04

05

06

07

08

09

1501

1505

1513

1514

1521

1523

1531

1543

1551

  GUIDE PIN (SHORT)

GUIDE PIN (LONG)

BOLT (SHORT)

BOLT (LONG)

BRONZE BUSH

METAL-RUBBER BUSH

INNER BOOT

STEEL CAP

RING

 Ø32 x 80 mm

Ø36 x 114 mm

M16 x 1,5 x 80 mm

M16 x 1,5 x 87 mm

Ø40 x Ø36 x 82 mm

Short vers�on 

 -

Ø40 x 15mm 

 -

 1

1

1

1

1

1

1

1

1

34



Knorr Repair Kits - SL7/SM7 TYPE

1053 - SL7/SM7
Cal�per P�ston Repa�r K�t

1053

REF DESCRIPTION DIMENSION QTY

01

02

 1568

1569

 TAPPET & BOOT ASSEMBLY(54mm Tappet)

TAPPET BUSH

 Ø69 mm

Ø17xØ15x7mm

2

2

1056 - SL7/SM7
Cal�per P�ston & Seal Repa�r K�t 

1056

REF DESCRIPTION DIMENSION QTY

01

02

03

 1568

1569

1538

 TAPPET & BOOT ASSEMBLY (54mm Tappet)

TAPPET BUSH

INNER SEAL

 Ø69 mm

Ø17xØ15x7mm

-

2

2

2

1052 - SL7/SM7
Cal�per Adjust�ng Shaft (W�thout Spr�ng)

1057 - SL7/SM7
Cal�per Lever

1060 - SL7/SM7
Cal�per Pad Reta�ner Repa�r K�t 

35



Knorr Repair Kits - KNORR SETS

CHS1001 - KNORR SETS
12-160 MAN SET

CHS1001

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

10

11

12

1002

1541

1553

1008

1012

1064

1014

1533

1520

1537

1168

1169

Cal�per Gu�des & Seals Repa�r K�t

Steel Cap

O-r�ng

Cal�per Cal�brat�on Bolt

Cal�per Adjust�ng Shaft

Cal�per Adjust�ng Mechan�sm

Cal�per Br�dge Assembly

Tappet & Boot Assembly

Tappet Bush

Inner Seal

Cal�per Roller Bear�ngs

Cal�per Cha�n (12 l�nks)

1

1

1

1

1

1

1

1

1

1

1

1

CHS1002

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

10

1173

1007

1008

1013

1001

1174

1175

1560

1047

1177

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Cha�n (14 l�nks)

Cal�per Cal�brat�on Bolt

Cal�per Adjust�ng Mechan�sm

Cal�per P�ston Repa�r K�t

Cal�per Roller Bear�ngs

Cal�per Ajust�ng Shaft

Adjuster Screw Ga�ter

Cal�per Cover

Cal�per Br�dge Assembly

1

1

1

1

1

1

1

1

1

1

CHS1002 - KNORR SETS
12-180 TGL MAN SET 

36



Knorr Repair Kits - KNORR SETS

CHS1003 - KNORR SETS
MAN TGA (NEW MODEL) SET

CHS1004 - KNORR SETS
SCANIA SET

CHS1003

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

1040

1032

1016

1029

1030

1031

1168

1008

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Br�dge Assembly

Cal�per P�ston & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

1

1

1

1

1

1

1

2

CHS1004

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

1164

1042

1127

1029

1030

1031

1168

1008

1045

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Br�dge Assembly

Cal�per P�stons & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

Cal�per Cover

1

1

1

1

1

1

1

2

1

37



Knorr Repair Kits - KNORR SETS

CHS1005 - KNORR SETS
AXOR (OLD MODEL) SET

CHS1006 - KNORR SETS
ACTROS BPW (NEW MODEL) SET

CHS1005

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

1040

1029

1030

1032

1031

1005

1008

1016

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Br�dge Assembly

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

Cal�per P�ston & Seals Repa�r K�t

1

1

1

1

1

1

2

1

CHS1006

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

1039

1041

1127

1029

1030

1031

1005

1008

1045

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Br�dge Assembly

Cal�per P�stons & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

Cal�per Cover

1

1

1

1

1

1

1

2

1

38



Knorr Repair Kits - KNORR SETS

CHS1007 - KNORR SETS
ACTROS BPW (OLD MODEL) SET

CHS1008 - KNORR SETS
AXOR (NEW MODEL) SET 

CHS1007

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

1003

1042

1127

1029

1030

1031

1168

1008

1045

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Br�dge Assembly

Cal�per P�stons & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

Cal�per Cover

1

1

1

1

1

1

1

2

1

CHS1008

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

1040

1029

1030

1041

1031

1005

1008

1016

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Adjust�ng Mechan�sm

Cal�per Adjust�ng Shaft (w�th spr�ng)

Cal�per Br�dge Assembly

Cal�per Cha�n (29 l�nks)

Cal�per Roller Bear�ngs

Cal�per Cal�brat�on Bolt

Cal�per P�ston & Seals Repa�r K�t

1

1

1

1

1

1

2

1

39



Knorr Repair Kits - KNORR SETS

CHS1009 - KNORR SETS
Sl7 / SM7 REPAIR SET

CHS1009

REF DESCRIPTION QTY

01

02

03

04

05

06

07

08

09

1009

1029

1031

1040

1042

1046

1052

1056

1069

Cal�per Cal�brat�on Bolt

Cal�per Adjust�ng Mechan�sm

Cal�per Cha�n (29 l�nks)

Cal�per Gu�des & Seals Repa�r K�t

Cal�per Br�dge Assembly

Cal�per Cover

Cal�per Adjust�ng Shaft (W�thout Spr�ng)

Cal�per P�ston & Seal Repa�r K�t 

Cal�per Bear�ngs

2

1

1

1

1

1

1

1

1

40




